
22 SCISSORS ARM
OPERATOR

41

For the window design that requires a
face-mounted operator, Truth has
developed a special version of our
Awning Roto Gear Operator that
incorporates the case from our 22
Series Operators with the functional
capabilities of the 11 Series Awning
Roto Gear Operator.  This operator is
designed to provide positive control of
the sash in any position, while producing
a secure pull-in of the window at its’
corners.  A simple detach feature is
available that disengages the operator
from the sash for quick window
removal and for ease in installation.
Available in both front-mount and rear-
mount models.  Also incorporating an
adjustable stabilizing tab (optional),
which helps reduce flexing of window
frame during operation.

WARRANTY: Protected under the
terms of the Truth Warranty for Window
and Door Manufacturers and Authorized
Distributors. Refer to Truth’s Terms
and Conditions for further details.

PRODUCT APPLICATION
ASSISTANCE: If you are designing
a new window profile, or are having
difficulty selecting hardware for your
window, please contact Truth. Our highly
trained Technical Service Staff can assist
you with the selection of the appropriate
hardware to meet your performance
requirements, as well as providing
personalized application drawings.

LOGO OPTIONS: Have you
considered personalizing your window
with your company name or logo?  All
of Truth’s operator handles are capable
of accepting your own “signature”.
Contact Truth for further details.

CORROSION PROTECTION:
Truth’s E-Gard® Hardware has a multi-
stage coating process that produces a
superior physical and aesthetic finish.
Plus, it is resistant to a wider range of
corrosive materials, including industrial
cleaning materials and environmental
pollutants.  This proprietary process
has been tested to be approximately
three times better than common zinc
plated finishes.

For the severe conditions associated with
coastal areas, Truth has stainless steel
hardware.  See Tech Note #7 for further
information about corrosion protection
and these special hardware options. 

MATERIAL: High-pressure die-cast
zinc case, crank handle and knob.
Hardened steel drive worm and gear
arms. Optional stainless steel arms.

FINISH: Electrostatically applied,
durable coatings that provide excellent
resistance to chipping, scratching and
corrosion while maintaining color
stability for years in direct sunlight.
Please refer to Truth’s Color Chart for
examples of Truth’s most popular finish
options.  Truth also offers a wide range
of decorative “plated” finishes -
contact Truth for additional
information on availability of these
finishes on specific product lines.

ORDERING INFORMATION: 
1. Choose operator style desired
(specify by part number).

2. Specify finish number.

3. Select mounting hardware (sold
separately):  
#11454 - Contour Handle (painted) or  
#10579 - Roto Gear Operator Handle -
shown above (painted).
Optional handle styles, such as Truth’s
Folding Handle, are also available.

Order Sash Hooks - see drawings for
the available model that best fits your
window design.  
#12789 - Stabilizing Tab Kit
#20189 - Backing Grommet (optional).  
#20947 - Backing Plate.  
#30171 - Rubber-cork adhesive backed
gasket (optional).  
#21306 - Protective red plastic spline
cap (optional).

RECOMMENDED SCREWS: 
Types of screws required determined
by material of profile used.  Refer to
drawings for complete information on
screw type and quantity needed (sold
separately).  For additional information
regarding screw selection - see Truth
Tips and Tech Note #11.

TRUTH TIPS: 
1. Operator mounting screws must
pass through one PVC wall and Truth
Backing Plates #20947 or one PVC
wall and one insert wall.  Track
mounting screws must pass through
two PVC walls or one PVC wall and
one insert wall.  For this reason, it is
necessary to use a longer screw than is
recommended.  

2. When selecting mounting screws for
Truth hardware, coating compatibility
is one of the most important criteria.
For best corrosion resistance the
coating on the screws should be the
same as the coating on the hardware.
For more information see Tech Note
#11.

3. This operator is intended for single
vent applications only, and should not
be used on multi-vent applications.  

4. For accurate hardware replacement,
pre-drilling is recommended.  

5. Truth recommends that Backing
Plates (#20947) and/or a Stability Tab
(#12789) be used for added support to
the operator in an effort to reduce the
amount of flex experienced in many
PVC Profile Systems.

AWNING



22 SCISSORS ARM
OPERATOR

41a

TRUTH TIPS (con't):
6. For metal window profiles, Truth
recommends machine screws.
However, in most applications, sheet
metal screws will provide adequate
holding power.  

7. Butt Hinges can be used with the
pivot shoe operator, however, some
degree of sash chatter will usually
occur.  Chatter is caused by the weight
of the window pushing the operator
closed rather than the operator pulling
the window closed.  

8. A window operator alone provides
poor forced entry resistance and must
always be used in conjunction with
sash locks when forced entry resistance
is required.  

9. This operator can be used with all
Truth 13 Series Awning and 4-Bar
Hinges.  To insure maximum operator
efficiency, it is important that operator,
hinge, and sash height be properly
matched.  Consult sash size table found
in the Hinge section of the catalog.

10. A Spline Cap (#21306) is available
to protect the operator splines from dirt
and other windows from damage
during shipping, installation, and final
building construction.

INCLUDE TRUTH SPECS ON
YOUR NEXT WINDOW PROJECT
Window operators shall be provided
which allow easy adjustment of
window position.  The mechanism
should be crank operated and provide
wide range of open positions.
Connection to the movable sash must
be easily detachable for window
cleaning and maintenance.

Window operators will be of scissors
arm design driven by hand crank.  The
operator must be constructed of 
E-Gard® components, hardened steel
worm and gear arms and high pressure
zinc alloy die castings.

Window Operators shall be 22 series
Scissors Arm Awning Operator as
manufactured by Truth Hardware,
Owatonna, MN.



22 SCISSORS ARM
OPERATOR

41b

FIG. 1  APPLICATION 22 SCISSORS ARM OPERATOR

[19.81 mm]
.780

OPTIONAL
STABILIZING TAB

FRAME

C

NOTE:
TO DETERMINE THE MINIMUM       DIMENSION
FOR OPERATOR ARM CLEARANCE, ADD HOOK
DIMENSION (     ) TO OPERATOR CONSTANT (     )

SASH HOOK
MOUNT HOLES

D MIN

E MIN

OPERATOR
MOUNT HOLES

A

SASH HOOK

N/A

MIN

.090 (2.3mm)

21.50 (546.1mm)

.090 (2.3mm)

16.00 (406.4mm)

D

B

MIN

O

20008

.340 (8.6mm)

40543

.250 (6.4mm)

A

.340 (8.6mm)

*31336
40181

*31336 SASH HOOK BRACKET WILL ADD OR SUBTRACT FROM       DIMENSION.

OVERALL
WIDTH

OPERATOR
PART NO.

22.21

21.50 (546.1mm)

22.22

16.00 (406.4mm)

22.23
22.27
22.28
22.29

B
ARM CLEARANCE

FR
AM

E

C

O

SA
SH

.220 (5.6mm)

ARM
CLEARANCE

.410 (10.4mm)

.250 (6.4mm)

E MIN

MOUNTING

.560 (14.2mm)

FRONT

.549 (13.9mm)

REAR

W

.530 (13.5mm)

H

O

+.410 (10.4mm)

STABILIZING
TAB

W

+.845 (21.5mm)
±.160 (4.1mm)

H

H

ORDER
(PN 12789)

+.410 (10.4mm)

O=     +    

APPROXIMATE
SASH

OPENING

15.00 (381.0mm)

10.00 (254.0mm)

O

15.00 (381.0mm)

10.00 (254.0mm)

DIMENSION

1.403 (35.6mm)

1.497 (38.0mm)

1.403 (35.6mm)

1.497 (38.0mm)

[196.85 mm]
7.750

20947 BACKING PLATE (2)
(20189 BACKING GROMMET
CAN ALSO BE USED)

TAPPED #8-32
(.218 MIN. SCREW
ENGAGEMENT)

C-SINK FOR
#10 SCREW

REAR MOUNT
SEE FIG. 3

FRONT MOUNT
SEE FIG. 2

SASH

W

20008 SASH HOOK
BRACKET SHOWN



22 SCISSORS ARM
OPERATOR

41c

FIG. 2  FRONT MOUNT CUT OUT DETAILS

(AVAILABLE WITH OR WITHOUT STABILIZING TAB)

FIG. 3 REAR MOUNT CUT OUT DETAILS

(AVAILABLE WITH OR WITHOUT STABILIZING TAB)
RECOMMENDED SCREWS:

OPERATORS:
FRONT MOUNT: 4 (P/N 19700.XX) #10-24 X .688 PHILLIPS, FLAT HEAD, STEEL SHEET METAL SCREWS

1 STABILIZING TAB UNIT PACK (P/N 12789) 
1 (P/N 19215.92) #8 X .750 PHILLPS, PAN HEAD, STEEL, SHEET METAL SCREW (STABILITY TAB)

NOTE: SCREW LENGTH AND THREAD TYPE WILL BE DETERMINED BY PROFILE.

RECOMMENDED SCREWS:

OPERATORS:
REAR MOUNT: 2 (P/N 19535.XX) #8-32 X .312 PHILLIPS, TRUSS HEAD, STEEL, MACHINE SCREWS

1 STABILIZING TAB UNIT PACK (P/N 12789) 
1 (P/N 19215.92) #8 X .750 PHILLPS, PAN HEAD, STEEL, SHEET METAL SCREW (STABILITY TAB)

NOTE: SCREW LENGTH AND THREAD TYPE WILL BE DETERMINED BY PROFILE.

STABILIZING TAB

STABILIZING TAB

C

4X PILOT FOR #10 SCREWS
OR .25DIA HOLES FOR
(P/N 20189) GROMMETS

[77.8 mm]
3.063

C

[77.8 mm]
3.063

C

C

FROM  L
OF MOUNTING
HOLES TO  L
OF SLOT

[15.9 mm]
.625

PILOT FOR A
#8 SCREW

[7.5 mm]
2X Ø.296

[8.7 mm]
.344

[15.9 mm]
.625

[6.4 mm]
.250

[88.9 mm]
3.500

[88.9 mm]
3.500

[69.9 mm]
2.750

[69.9 mm]
2.750

[88.9 mm]
3.500

[2.8 mm]
.110

[88.9 mm]
3.500

PILOT FOR A
#8 SCREW

[8.7 mm]
.344

[69.9 mm]
2.750

[69.9 mm]
2.750

[15.9 mm]
.625

[2.8 mm]
.110

FROM  L
OF MOUNTING
HOLES TO  L
OF SLOT

[6.35 mm]
.250

[15.88 mm]
.625

FIG. 3  REAR MOUNT CUT OUT DETAILS



22 SCISSORS ARM
OPERATOR

41d

FIG. 4  SASH HOOK 20008.XX FIG. 7  TORSION BAR 40181.XX

FIG. 6  SASH HOOK 31336.XX

(H)
.250

(6.4mm)

2.625
(66.7mm)

.500
(12.7mm)

.160
(4.06mm) 3.187

(81.0mm)

(H)

.250
(6.4mm)

2.625
(66.7mm)

(H)

.410
(10.4mm)

(H).410
(10.4mm)

.590
(15.0mm)

12.0
(304.8mm)

4.0
(101.6mm)

3.187
(81.0mm)

.688
(17.5mm)

.500
(12.7mm)

.250
(6.4mm)

1.122
(28.3mm)

.845
(21.5mm)

.776
(19.7mm)

.409
(10.4mm)

.938
(23.8mm)

1.312
(33.3mm)

.188
(4.8mm)

RECOMMENDED SCREWS:

WOOD: 2 (P/N 19230.XX) #8 X 1.0 PHILLIPS, PAN HEAD,
SHEET METAL SCREWS

PVC & METAL: 2 - #8 PHILLIPS, PAN HEAD SCREWS (LENGTH
AND THREAD TYPE DETERMINED BY PROFILE)

(C)

(C)
RECOMMENDED SCREWS:

WOOD: 4 (P/N 19240.XX) #8 X 1.0 PHILLIPS, FLAT
HEAD, SHEET METAL SCREWS

PVC & METAL: 4 - #8 PHILLIPS, FLAT HEAD SCREWS
(LENGTH AND THREAD TYPE
DETERMINED BY PROFILE)

RECOMMENDED SCREWS:

WOOD: 2 (P/N 19240.XX) #8 X 1.0 PHILLIPS, FLAT HEAD,
SHEET  METAL SCREWS

PVC & METAL: 2 - #8 PHILLIPS, FLAT HEAD SCREWS
(LENGTH  AND THREAD TYPE DETERMINED
BY PROFILE)

RECOMMENDED SCREWS:

WOOD: 2 (P/N 19240.XX) #8 X 1.0 PHILLIPS, FLAT HEAD,
SHEET  METAL SCREWS

PVC & METAL: 2 - #8 PHILLIPS, FLAT HEAD SCREWS
(LENGTH  AND THREAD TYPE DETERMINED
BY PROFILE)

(C)

FIG. 5  SASH HOOK 40543.XX



22 SCISSORS ARM
OPERATOR

41e

FIG. 8  GASKET 30171

[12.70 mm]
.500

[6.35 mm]
.250

HOLE FOR #8

[23.62 mm]
.930

[10.62 mm]
2X .418

FIG. 11 STABILIZING TAB 12789

2X Ø.172 
(4.4mm)

NOTES: 
BACKING PLATE IS DESIGNED FOR #8 SCREW TO
PASS THROUGH FOR REAR MOUNT APPLICATIONS
AND FOR A #10 SCREW TO TAP INTO IT FOR A FRONT
MOUNT APPLICATIONS.

G. 9 BACKING PLATE 20947.XX

G. 10 BACKING GROMMET 20189

.104
(2.6mm)

2X .190
(4.8mm)

.500
(12.7mm)

.437
(11.1mm)

NOTE:
INCLUDES TWO SCREWS FOR ATTACHMENT
TO OPERATOR.

7.750
(196.9mm)

7.0
(177.8mm)

.750
(19.1mm)

.031
(.8mm)

[14.22 mm]
.560

[4.83 mm]
.190

[28.45 mm]
1.120

PAN HEAD SCREW

90°

#10-24 NC

[3.97 mm]
.156

[2.79 mm]
.110

[6.60 mm]
Ø.260

[9.12 mm]
Ø.359

700 WEST BRIDGE STREET, OWATONNA, MN 55060 � 507.451.5620 800.866.7884 � TRUTH.COM

FIG. 9  BACKING PLATE 20947.XX

FIG. 10  BACKING GROMMET 20189 FIG. 11  STABILIZING TAB 12789



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 100
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e5c4f5e55663e793a3001901a8fc775355b5090ae4ef653d190014ee553ca901a8fc756e072797f5153d15e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc87a25e55986f793a3001901a904e96fb5b5090f54ef650b390014ee553ca57287db2969b7db28def4e0a767c5e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020d654ba740020d45cc2dc002c0020c804c7900020ba54c77c002c0020c778d130b137c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor weergave op een beeldscherm, e-mail en internet. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for on-screen display, e-mail, and the Internet.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing false
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [300 300]
  /PageSize [612.000 792.000]
>> setpagedevice


